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Section A : Multiple Choice Questions - Each question has 4 options
out of which ONLY ONE option is correct. - 10x1=10
DES - A 2PN BHen - ©8 B8 - 4 JobSw dodron, BN &
QODEOS" 28 JoDE SPEH HDI VIPFIYS06. '
I Given the population figures below, which city has the LOWEST

population?
B3 a8 wTrer Kerostoin 08, ) SK8o SKY S IS O
@08 ? | s * f ]
-A) City P: 570521 B) City Q: 521075
K80 P : 570521 SK80 Q : 521075
C) City R: 570215 . D) City S: 521705
SH8o R : 570215 Sigo S 1 521705

2. What is the sum of the first 5 whole numbers?
S0EE 5 JrgrosTe Ingo Do ? ik
A)O B)S C) 10 D)15 .
3. What is the difference between the greatest and the smallest 6-digit
numbers that can be formed using each of the digits 3, 7, 2, 0, 6 and 4
exactly once? AR
3,7,2,0, 63500050 4 o800 BT 2530 $IA,A0D IGyA 082G
308050 D) 6 - VOB Jopge Gy Vo Jod ? i ]
A) 967787 . =i B)STITI? C) 740853 - D) 560853

4. Which of the following is the expanded form of ‘three lakhs five thousand
fifteen’? e d
808 TBS* ‘Bt L 2B Jo DT’ B DI SErdo
28 ? ‘ 258 TR O
A)3x100000+5x 1000+ 1x10+5x1
B)3x 100000+ 5x 10000+ 1x10+5x 1
C) 3 x 100000 + 5 x 1000+ 1 X 100 + 5 X |
D) 3x 100000+ 5x 1000+ 5x 10

[ ]
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3.

ps of 4 units each to the

On a number line, starting at 0, if you take 3 ste
| here would you end up?

right and then 2 steps of 5 units each to the left, w
& ¥ Sogrg 'ézp'g_:: 0 Jo0d oo 4 @és‘eo*e)&i’: 3 & §3é§@é®
558050 5 PErErof 238 JEHJHIE S20K008, Sogrgop R DIOM

B0 £80D% Hopg A8 ? | [ ]
A)2 B) 10 - 0 12 D) 22

Read the statements below carefully and choose the correct answet.
BKS DELSOR BT SES08 $000%0 IS HSrTIR) ous'od
Statement 1: Number zero has no predecessors in whole numbers.
BELS 1: FTostes' o Feidopg B&o.
Statement 2: The sum of the successor of n and predecessor of n is 2n.
DELS 2 1 1 Bk, SEE Sopg $Ba%0 N BN, Yrdg Sowge IO 2n.
[ ]

A) Statement 1 is true ahd statement 2 is false.

©ELS 1 5850 SoBon HELS 2 wJE50
B) Statement 1 is false and statement 2 is true.

DELS 1 3850 Sodasw HELS 2 S&go
C) Both statements 1 and 2 are true. :

PELS 1 500080 (DPELS 2 ok J&g0
D) Both statements 1 and 2 are false.

PELS 1 508050 PELS 2 Bodr wd&g0

Rita is reading a novel. If the sum of the predecessor and successor of her
current page number is 200, what is Rita’s current page number?

Bir o8 S50 FEHS08. BB PHRE D Sopg B, g Sopg
$00050 B8 Sopge nEo 200 Bowd, St Bog), HHE

Sogg Q08 ? ' [
A) 101 B) 100 C) 99 D) data insufficient

' | $&080 S8k

i
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8.

10.

3 SAM -4
In a recent election, the number of votes received by four candidates are
given below:
2850 IS, SenrHri BgRos SO\ L Sopg Bod aSwA0s:
K.+ 11100 votes L : 10011 votes M : 11010 votes N : 10110 votes ‘
Arrange the candidates in ASCENDING order based on the number
of votes received.
K: 11100869, L: 10011 &4 M: 11010 & N : 10110 £y
SYS &y Sopg wgrdornr ool ub'ire ESos® ©¢)0s. [ ]

A) K,M,N,L B)L,N,M, K COK,NM,L D)L,K,N,M

A town has been recording its population growth over the years. Last year,
the population of the town was recorded as ‘ten lakhs five thousand twenty’.
What is the numerical representation of this population? '

%8 JLD0 J0SHT T BTG DEIHEOS SATE DB, H8Td Syw
BT DO ofo ndo a3’ m A3rTod. & 23y B0, SogrgdIDS

[

8IGg0 D ? e ey
'A) 10520 B) 105020  C)1005020 D) 1050020

Which statement is ALWAYS true if you interchange the first and last
digits of a 3-digit number with no zeros and repeated digits?

&;dj.éoa:len $oB0n PIo S)E wosen BKoad 3 - wosL Sowg ook,
S0 Sr8akn DB BoBLDH HEHYBo Sy Ko, |Bod O HELS Iy
dégo ? - y [ ]

~ A) The new number would be greater than the original number.

FEm G)AS Sopg den Sopg §oB 8y ST Wotnod.

B) The new number would be less than the original number.

. FEm D5)BS Sopg wden Sopg Kol 89T dotnod.

C) The sum of the digits of the new number would be the same as that of
the original number |
FEm™ J6AS Sopy DY), wosw Indo, VP Sopy D), voBy
30gos* HSrSom dolood. i ; . -

D) The sum of the place values of the digits in the new number would be
the same as that of the original number.
T 5)AS Sopg BoE), woB P deodSe Ango, wden Sowg
A, ©oBL P eSO Ingod® SSrSom dotnod.
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Section B : Answer the following questions in your answer sheets.

11.

12,

13,

15.

RES - B: N850 sTw a@sorﬁ‘ & 800 HHOKH JIrpTw avgos.

5x2=10

John starts with 0, adds 8 to it and then subtracts 5 from the result. Show
these steps on a number line and determine the final position on the
number line.

& 08° @"doé)o:) CS"c'O§ 82 F'Go0), B HOS0 Kod 55 BITI;L. &
S¥o Jogrgdp Hrdod Sodosw (oosp*g'ém 2 0 ava*’&)ul Dgonousod.

A bookbinder needs 2 metres and 50 centimetres of bookbinding sheet for
one book cover. She has a 75-metre roll of bookbinding sheet. How many

- book covers can she make? Show your steps.

2§ 008 BodE% 8 e §36 590 2 b 50 Doty w08 Bodoh Qe
5580, BB 75 MY w§ BoBOA U EOA 08, WoNS B0 I) VIE
E3ER0 Sairhichrud ? & FFTod WrHod.

The distance between Reena’s house and her school is 1 km 480 m. Every

| day she walks both Ways. What distance does she cover in 6 days of a
week?

65> mew SoBak0 TV FoTe Sogg Grdo 1 83 480 o. D85 > B
dod IPer 08, VoI B TS 6 wed” Jod &rdo

B écﬁ.moo& ?
14.

Llst all the two-digit numbers that can be formed using the digits 1,2 and 3,
where repetition of digits is allowed.

@ose Q):éo‘égéo ©0H08oTVAS 1, 2 :5360530 3 ®o8ON GIDTrACD

adﬁ ©J) Bod - @o@o (ooa)goiﬁa 0‘0:530&

Answer the vfollowmg :

808 T8 JSrENo Adgod _

1) Express a company’s annual budget, which is 15 crores, in millions.
16. 8¢ S0 T°0F o OcHPS® Hg§dtsod,

2) Express a city’s population, which is 2.5 million, in lakhs.

2.5 OB ) SHE aTers 0FS° SEIEB0d.
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1) Given the population figures below, which city has the LOWEST population? [B]
A) City P: 570521  B) City Q: 521075 C) City R: 570215 D) City S: 521705

2) What is the sum of the first 5 whole numbers? [C]
A)O B) 5 C) 10 D) 15

Sol: Sum of first 5 whole numbers =0+1+4+2+3+4 =10

3) Whatis the difference between the greatest and the smallest 6-digit numbers that can be formed
using each of the digits 3, 7, 2, 0, 6 and 4 exactly once? [D]
A) 967787 B) 577777 C) 740853 D) 560853

Sol: Greatest number = 764320
Smallest number = 203467
Dif ference = 764320 — 203467 = 560853

4) Which of the following is the expanded form of 'three lakhs five thousand fifteen'? [A]
A)3x1000004+5x1000+1x10+5x1 B)3x100000+5x10000+1x10+5x1
C)3x100000+5x1000+1x100+5x1 D)3 x100000+5x1000+5x10

5) Onanumber line, starting at 0, if you take 3 steps of 4 units each to the right and then 2 steps of 5
units each to the left, where would you end up? [A]
A)2 B) 10 C) 12 D) 22

Sol:3x4—-2%x5=12-10=2

6) Read the statements below carefully and choose the correct answer [C]
Statement 1: Number zero has no predecessors in whole numbers.
Statement 2: The sum of the successor of n and predecessor of n is 2n
A) Statement 1 is true and statement 2 is false.
B) Statement 1 is false and statement 2 is true
C) Both statements 1 and 2 are true.
D) Both statements 1 and 2 are false.

7) Ritaisreading a novel. If the sum of the predecessor and successor of her current page number

sureshmathsmaterial.com-9866845885 Page 1




is 200, what is Rita's current page number? [B]
A) 101 B) 100 C) 99 D) data insufficient
Sol:200 + 2 =100

8) Inarecent election, the number of votes received by four candidates are given below:
K: 11100 votes L : 10011 votes M : 11010 votes N : 10110 votes. Arrange the candidates in

ASCENDING order based on the number of votes received. [B]
A)K M N,L B)L, N, M, K O KN, M,L D)L, K N,M

Sol: ASCENDING order (Small to big): 10011(L), 10110(N), 11010(M), 11100(K)

9) Atown has been recording its population growth over the years. Last year, the population of the
town was recorded as 'ten lakhs five thousand twenty'. What is the numerical representation of

this population? [C]
A) 10520 B) 105020 C) 1005020 D) 1050020

10) Which statement is ALWAYS true if you interchange the first and last digits of a 3-digit number
with no zeros and repeated digits? [C]

A) The new number would be greater than the original number.
B) The new number would be less than the original number
C) The sum of the digits of the new number would be the same as that of the original number

D) The sum of the place values of the digits in the new number would be the same as that of the

original number.
Section B: Answer the following questions in your answer sheets

11) John starts with 0, adds 8 to it and then subtracts 5 from the result. Show these steps on a

number line and determine the final position on the number line

Sol: +8-5=3

P ~
St ol

[
-6-5-4-3-2-1, 12 3 4 567 9 10

-5
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The final position of John on the number line is +3

12) Abookbinder needs 2 metres and 50 centimetres of bookbinding sheet for one book cover. She
has a 75-metre rol roll of bookbinding sheet. How many book covers can she make? Show your

steps.
Sol: Required sheet for one book = 2m 50 cm = 250 cm
Roll of book binding sheet=75 m=7500 cm
Number of books can she made = 7500 cm + 250 cm = 30

13) The distance between Reena's house and her school is 1 km 480 m. Every day she walks both

ways. What distance does she cover in 6 days of a last week?
Sol: The distance between Reena’s house and her school = 1 km 480 m = 1480 m

Distance cover by Reena in one day = 1480 X 2 = 2960m
She covered the distance in 6 days = 2960m X 6 = 17760 m = 17 km 760 m

14) List all the two-digit numbers that can be formed using the digits 1, 2 and 3, where repetition of
digits is allowed.

Sol:11,12,13,21,22,23,31,32,33

15) Answer the following:

1) Express a company's annual budget, which is 15 crores, in millions.
Sol: 15 crores=15,00,00,000=150,000,000=150 millions

2) Express a city's population, which is 2.5 million, in lakhs.

Sol: 2.5 millions=2,500,000=25,00,000=25 lakhs
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